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e 1) Make a sketch of the following quadratic relations.

a) y=15(x—-4)*-2

(4,-2)
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b) y=—(x—2)(x+4) -0
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2) Factor the following fully:
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3) Consider the quadratic relation y = 5x% + 10x + 3

a) Determine the x-intercepts of the relation b) Determine the vertex of the relation
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4) Mrs. Smith sells frozen cookies from home. In December, she sold 300 dozen cookies when they @
were priced at 55 per dozen. She thinks that if she increases the price by $0.25, she would sell 5
less dozen cookies. What price should she charge to maximize her revenue?

Hint: Let “X” represent the number of price increases
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